PROBLEMS

33. Since these expenses relate to Sandra’s law practice, all are deductible in calculating her AGI. Therefore, they reduce AGI by $4,225.

Conference registration ($800 + $800)

 $1,600

Airline tickets ($900 + $400) 



   1,300

Lodging ($650 + $350) 



   1,000

Rental car in San Francisco 



     325

$4,225

pp. 6-2 and 6-3

34. a. Carlton’s AGI is calculated as follows:

Gross income:

Salary income $72,000

Dividend income 4,000

Interest income 3,000 $79,000

Deductions for AGI:

Alimony paid $12,000

Traditional IRA contribution 3,000

Loss on sale of stock 900 (15,900)

Adjusted gross income $63,100

b. Itemized deductions:

Contributions to First Church $ 2,500

Real estate taxes on personal residence 1,800

Mortgage interest on personal residence 6,000

State income taxes 3,500

Total itemized deductions $13,800

Since the standard deduction for 2005 of $4,850 is less than Carlton’s itemized

deductions of $13,800, he should itemize deductions in 2005. pp. 6-3 to 6-5

35. 



With IRA Contribution
Without IRA Contribution

Gross income 



$10,200 


$10,200

Contribution to IRA   

               (3,000) 


    (-0-)

AGI 




  $ 7,200 


$10,200

Itemized deductions:

Charitable contribution 

  $ 2,000 


$ 2,000

Medical expenses 

[$2,200 – (7.5% X AGI)] 

     1,660 


   1,435

Casualty loss

 [($3,500 – $100) – (10% X AGI)]          2,680 


    2,380

Total itemized deductions

   $ 6,340 


 $ 5,815

Thus, the $3,000 IRA contribution would increase Julie’s itemized deductions by $525

($6,340 – $5,815). pp. 6-3 to 6-5 and Example 2

36. a. Drew and Cassie are trying to use the salaries to reduce the taxable income of

Thrush to zero ($800,000 – $400,000 – $300,000 – $100,000). By so doing, they

can avoid the potential for double taxation.

b. If the salaries paid to the children are deemed reasonable, Thrush’s taxable

income is reduced to zero. Each child will report gross income of $25,000.

The more likely result is that a substantial portion of the $100,000 salary

payments will be labeled as unreasonable compensation. In this case, Thrush’s

taxable income will be increased by the amount of unreasonable compensation.

Each of the children will report gross income equal to the amount labeled

reasonable compensation. Drew and Cassie will have additional dividend income

equal to the amount of the unreasonable compensation.

pp. 6-6 and 6-7

37. The following losses can be deducted by Audra:

Loss on sale of Brown stock $1,100

Theft loss of uninsured business use car 1,500

Loss on sale of City of Newburyport bonds 900

Deductible loss $3,500

Neither the $11,000 loss on the sale of Audra’s personal use car nor the $12,000 loss on

the sale of her personal residence is deductible because these assets are personal use

assets. p. 6-7

38. a. Under the cash method, Falcon can deduct only the salaries paid of $500,000.

The $45,000 of unpaid salaries can be deducted when paid next year.

b. Under the accrual method, the $500,000 is deductible because both the all events

test and the economic performance test are satisfied. These tests also are satisfied

for the $45,000 of unpaid and accrued salaries. Consequently, Falcon can deduct

the $45,000 for a total deduction of $545,000 ($500,000 + $45,000).

pp. 6-5 to 6-11

39. Doris can deduct only $20,000 ($72,000 X 5/18) in 2005 for the rent for August,

September, October, November, and December. She does not qualify under the one-year

rule for prepaid expenses since the period for which prepayments have been made

extends past December 31, 2006. p. 6-9 and Example 7

40. Gross receipts $300,000

Less:

Coliseum rental $ 25,000

Food (cost of goods sold) 30,000

Souvenirs (cost of goods sold) 60,000

Performers 100,000 (215,000)

Net income for 2005 $ 85,000

Since Duck is an accrual basis taxpayer, it may accrue and deduct the costs of the

performers of $100,000 even though not paid until January 5, 2006 (i.e., the economic

performance test is satisfied). However, the cleaning cost of $10,000 may not be

deducted until 2006 when the services are performed (i.e., at that time, the economic

performance test is satisfied). pp. 6-10 and 6-11

41. None of the $187,000 ($112,000 + $75,000) paid by Mercedes is deductible. Federal

income taxes and related interest and penalties are not deductible. Likewise, the legal

fees are deemed to be personal and, therefore, nondeductible. pp. 6-12 and 6-13

42. a. Gross income $550,000

Deductible expenses:

Salaries $80,000

Rent 24,000

Utilities and telephone 9,000

Interest 6,000

Medical insurance premiums for employees 4,000

Depreciation 12,000 (135,000)

Net income $415,000

Only the usual business expenses are deductible. The illegal kickbacks of

$20,000 and the bribes to police of $25,000 violate public policy and, therefore,

are not deductible. p. 6-13 and Example 16

b. The answer would differ if the business was an illegal drug operation. In this

case, none of the expenses would be deductible. However, gross income could be

reduced by the cost of goods sold of $100,000 (i.e., the cost of goods sold is

viewed as a reduction in calculating gross income rather than as an expense). So

net income would be $450,000 ($550,000 – $100,000). See discussion following

Example 16.

43. Polly’s deduction for the political contributions is $0. Political contributions cannot be deducted. p. 6-14

44. a. Under the first option, the salary of Amber’s president would be $1,170,000

($900,000 + $270,000). Since Amber is a publicly held corporation, only

$1,000,000 of this salary is deductible, with the balance of $170,000 being

disallowed as excessive executive compensation. The $26,000 ($20,000 +

$6,000) contribution to the defined contribution pension plan would be

deductible.  Under the second option, all of the compensation paid to the president is

deductible assuming the statutory requirements for a performance-based

compensation program are satisfied. Thus, only the second option provides

Amber with a deduction for all of the president’s proposed compensation.

pp. 6-14 and 6-15

b. Hoffman, Smith, and Willis, CPAs

5191 Natorp Boulevard

Mason, OH 45040

September 16, 2005

Ms. Agnes Riddle

Chairperson of the Board of Directors

Amber, Inc.

100 James Tower

Cleveland, OH 44106

Dear Ms. Riddle:

I am responding to your inquiry regarding the proposed compensation plans for

Amber’s president. Under one proposal, both the salary and the pension

contribution will be increased by 30%. Under the other option, a performancebased

compensation program will be implemented which is projected to provide

about the same additional compensation and pension contribution for the

president.

The 30% increase option will produce a salary of $1,170,000 and a pension

contribution of $26,000. Of this amount, only $1,026,000 ($1,000,0000 salary

and $26,000 pension contribution) can be deducted by Amber. The salary paid to

the president in excess of $1,000,000 is disallowed as excessive executive

compensation.

Under the performance-based compensation option, all of the compensation

(salary, bonus, and pension contribution) can be deducted assuming that the

performance-based compensation satisfies the following requirements:

Such compensation is based on company performance according to a

formula approved by a board of directors compensation committee

(comprised solely of two or more outside directors) and by shareholder

vote. The performance must be certified by this compensation

committee.

I recommend that you adopt the performance-based compensation option. I

believe that it will better achieve Amber’s objective of placing a greater emphasis

on the relationship between performance and compensation. In addition, under

this approach, all of the compensation can be deducted on Amber’s Form 1120.

If you would like to have me work with you in developing this program, let me

know.

Sincerely,

Rex Edward, CPA

Partner

pp. 6-14 and 6-15

45. Since Vermillion is a publicly held corporation, it is subject to the excessive executive

compensation deduction limit for the CEO and the four other most highly compensated

officers of $1 million each. Since the 5 percent bonus does not satisfy the requirements

that must be met to exclude it from covered compensation, the bonus is included with the

salary in applying the limit. Thus, Vermillion may deduct the following:

Retirement Plan

Salary Contribution

CEO $1,000,000 $ 80,000

Executive vice president 1,000,000 72,000

Treasurer 1,000,000 64,000

Marketing vice president 1,000,000 60,000

Operations vice president 1,000,000 56,000

Distribution vice president 1,260,000 48,000

Research vice president 1,100,000 44,000

Controller 800,000 32,000

$8,160,000 $456,000

The limit does not apply to the distribution vice president or the research vice president

because they are not included in the covered group (i.e., CEO plus top 4). The retirement

plan contribution is excluded from the definition of covered compensation. pp. 6-14 and

6-15

46. Even though Jenny decides not to pursue the expansion of her restaurant chain into

another city, the investigation expenses of $25,000 are deductible in the current year.

Because Jenny is in the restaurant business, all investigation expenses associated with the

restaurant business are deductible in the year paid or incurred. Since Jenny was not in

the hotel business, she can deduct only part of these investigation expenses. Of the

$51,000, an amount of $4,000 [$5,000 – $1,000 (reduction for excess over $50,000)] can

be immediately expensed. The balance of $47,000 ($51,000 – $4,000) is amortized over

a period of 180 months at the rate of $261 per month ($47,000 ÷ 180) commencing in

November (the month the business is started). Consequently, the total deduction for the

year is $25,000 for the restaurant investigation + $4,522 [$4,000 + ($261 X 2 months)]

for the hotel investment, or a total of $29,522. p. 6-16

47. a. He could deduct $30,000. p. 6-15 and Example 18

b. He could deduct $30,000. p. 6-15 and Example 18

c. None of Tim’s expenses is deductible. p. 6-16 and Example 19

d. Tim can immediately expense $5,000 and amortize the $25,000 balance ($30,000

– $25,000) over a period of 180 months beginning in September (the month the

business is started). The deduction for 2005 is $5,556 [$5,000 + $556 ($25,000 ÷

180 X 4 months)]. p. 6-16 and Example 20

48. Alex must report all of the revenues of $18,000. All of the property taxes of $3,000 can

be deducted. Since the remaining expenses of $16,250 exceed the balance of $15,000

($18,000 revenues – $3,000 property taxes), only $15,000 of these expenses are eligible

for deduction as follows:

Materials and supplies $ 4,500

Utilities 2,000

Advertising 5,000

Insurance 750

Depreciation (since depreciation is sequenced last, 2,750

only $2,750 of the $4,000 is eligible)

Total deductible expenses $15,000

However, since this $15,000 of expenses is classified as a miscellaneous itemized

deduction and is, therefore, subject to the 2% of AGI floor, $1,200 [($42,000 + $18,000)

X 2%] of these expenses are disallowed.

Other AGI $42,000

Revenues from hobby $18,000

Less: Expenses

Property taxes (3,000)

Miscellaneous itemized

deduction ($15,000 – $1,200) (13,800)

Reportable net income from hobby 1,200

Less: Personal exemption deduction (3,100)

Taxable income $40,100

pp. 6-16 to 6-19

49. a. If the miniature horse activity is held to be a hobby, Samantha’s deductions

associated with the hobby may not exceed her gross income from the activity.

Income $22,000

Deduct: Mortgage interest (10% of $24,000) $ 2,400

Property taxes on farm improvements 800

Property taxes on home (10% of $2,200) 220 (3,420)

Balance $18,580

Deduct: Other expenses

Entry fees $ 1,000

Feed and vet 4,000

Supplies 900

Publications and dues 500

Travel 2,300

Salary and wages 8,000 (16,700)

Balance $ 1,880

Depreciation:

On horse equipment $ 3,000

On farm improvements 7,000

On home (10% office portion) 1,000

Total $11,000

Limited to (1,880)

Net income $ -0-

The items are handled as follows:

AGI $100,000

Plus: Horse income 22,000

New AGI $122,000

Itemized deductions:

Interest and taxes on farm (hobby portion) $ 3,420

Interest and taxes on home ($26,200 – $2,620) 23,580 $27,000

Other expenses and depreciation

($16,700 + $1,880) of hobby $18,580

Less: 2% of AGI ($122,000) (2,440) $16,140

Note that the deductions for the miniature horse operation are $19,560 ($3,420 +

$16,140) of which $3,420 were deductible anyway. The net increase in taxable

income is:

Income $22,000

Otherwise nondeductible expenses (16,140)

Net increase in taxable income $ 5,860

b. If the miniature horse activity is classified as a business, Samantha would be able

to deduct $9,120 for AGI as follows:

Remainder of income after other expenses and before amounts that affect basis

(depreciation) [see Part (a.) above] $ 1,880

Less: Depreciation (11,000)

Deduction for AGI ($ 9,120)

In addition, Samantha could deduct the remaining property taxes and mortgage

interest of $23,580 as an itemized deduction. The net effect is as follows:

Loss on farm ($9,120)

Add: Otherwise deductible taxes and interest 3,420

Net decrease in taxable income ($5,700)

Contrast this decrease of $5,700 with the increase of $5,860 in part (a.). The

$11,560 difference is due to the difference between hobby and business treatment.

Examples 22 and 23

50. Since the house was rented for less than 15 days, the rental income of $4,000 is excluded from Arlene’s gross income. The only expenses that can be deducted in this case are the real property taxes of $2,800 and the mortgage interest of $7,000. These expenses are classified as itemized deductions (i.e., deductions from AGI). Therefore, there is no effect on AGI. pp. 6-19 and 6-20

51. a. Gross income $7,000

Deduct: Taxes and interest (45/365 X $11,500) (1,418)

Remainder to apply to rental operating expenses and depreciation $5,582

Utilities and repairs [45/65 X ($2,400 + $1,000)] (2,354)

Remainder $3,228

Depreciation (45/65 X $7,000 = $4,846), limited to remainder) (3,228)

Net rental income $ -0-

She can itemize $10,082 of property taxes and mortgage interest ($11,500 total

less $1,418 allocated to rental). Thus, under the court’s approach, Anna has no

net rental income and has an itemized deduction of $10,082. Example 29

The roof replacement of $12,000 is a capital expenditure. p. 6-26

b. Gross income $7,000

Deduct: Taxes and interest (45/65 X $11,500 = $7,962), but limited

to income (7,000)

$ -0-

Anna can deduct the remaining taxes and interest of $4,500 ($11,500 less rental

allocation of $7,000) as itemized deductions. Under the IRS’s approach, she has

no net rental income and has an itemized deduction of $4,500. Example 28

52. Since Anna used it for less than 15 days, it is classified as rental property.

Rental Personal

Percentage of use 88% 12%

Gross income $ 7,000 $ -0-

Expenses:

Interest and taxes ($9,000 + $2,500) $10,120 $1,380

Utilities and repairs ($2,400 + $1,000) 2,992 408

Depreciation ($7,000) 6,160 840

Total expenses $19,272 $2,628

Net income (loss) ($12,272) $ -0-

Anna could deduct $300 ($2,500 X 12%) of property taxes as itemized deductions and

take a rental loss deduction for AGI of $12,272. The mortgage interest of $1,080 ($9,000

X 12%) is not deductible as an itemized deduction because it is not qualified residence

interest. Example 25

The roof replacement of $12,000 is a capital expenditure. p. 6-26

53. Income:

Salary $43,000

Dividend 400

Rental of vacation home (Note 2) -0-

Adjusted gross income $43,400

Itemized deductions:

State income taxes $3,300

Property tax on home 2,200

Interest on home mortgage 8,400

Interest and property taxes on vacation home (Note 2) 4,893

Charitable contributions 1,100

Tax return preparation fee (Note 3) -0- (19,893)

Taxable income before personal exemption $23,507

Notes

(1) The municipal bond interest of $2,000 is excludible from gross income and the

interest expense of $3,100 on the loan to buy municipal bonds is not deductible.

pp. 6-28 and 6-29

(2) Rental income $4,000

Less: Taxes and interest (60/365 X $5,856) (963)

Remainder $3,037

Less: Utilities and maintenance (1/2 X $2,600) (1,300)

Remainder $1,737

Less: Depreciation ($3,500, limited to $1,737) (1,737)

Net income from vacation home $ -0-

Note that $4,893 ($5,856 total – $963 vacation home portion) of property taxes

and mortgage interest on the vacation home are itemized deductions. Example 29

(3) Tax preparation fees are reduced by 2% of AGI (in this case 2% of AGI exceeds

$300). Concept Summary 6-3

54. a. Sales revenue $50,000

Deduct: Cost of goods sold $19,000

Advertising 1,000

Utilities 2,000

Rent 4,000

Insurance 1,500

Wages to Boyd 7,000 (34,500)

AGI $15,500

Velma and Clyde can deduct only the $7,000 in wages they paid to Boyd.

b. Chelsie is not entitled to a deduction on her tax return. The obligation is that of

Velma and Clyde since it related to their business.

c. If Chelsie had made a gift of the $1,000 to Velma and Clyde or had she loaned the

$1,000 to them, then they could deduct it assuming they pay the $1,000 to Boyd.

p. 6-25

55. From a tax perspective, the same tax consequences are produced regardless of whether

the $400,000 is allocated to goodwill or to a covenant not to compete. Under either

circumstance, the asset is a § 197 intangible. Therefore, the $400,000 must be capitalized

and can be amortized over 15 years (i.e., $26,667 per year). p. 6-26

56. a. Jay is selling the assets of the sole proprietorship. Of the sales price of $200,000,

$173,000 is allocated to the listed assets in accordance with their fair market

values. The recognized gain on each asset is the difference between its fair

market value and its basis. The residual $27,000 ($200,000 – $173,000) appears

to represent a payment for goodwill. Therefore, since Jay has a basis of $0 for the

goodwill, he has a gain of $27,000. Since goodwill is a capital asset, the gain is

classified as a long-term capital gain. Long-term capital gains are eligible for

beneficial tax rates.

b. Lois is purchasing the assets of the sole proprietorship. Her basis for each asset is

the amount paid for it (i.e., the fair market value). It appears that the excess

$27,000 ($200,000 – $173,000) represents a payment for goodwill. The goodwill

is amortized over a statutory 15-year period.

Another option for Lois would be to get Jay to agree that part or all of the $27,000

is a payment for a covenant not to compete. Even though Jay is age 70 and

indicates he is going to retire, this would give Lois additional security. Like

goodwill, the covenant is amortizable over a statutory 15-year period regardless

of the life of the covenant.

c. Whether an allocation is made to a covenant does not affect the tax consequence

to Lois (both are amortizable over a 15-year period). Goodwill is a capital asset

to Jay, whereas the sale of a covenant not to compete would produce ordinary

income. Since Jay, is in the 35% marginal tax bracket, there is a benefit to him of

using the alternative tax on capital gains in calculating his tax liability.

Therefore, assuming Lois is secure that Jay is going to retire (i.e., she does not

need the legal protection of a covenant), she may negotiate to have part of Jay’s

tax benefit of the goodwill assigned to her through an adjustment of the $200,000

purchase price.

p. 6-26

57. a. Janet’s $12,000 loss ($70,000 amount realized – $82,000 adjusted basis) is not

deductible due to § 267. Example 35

b. If sold for $90,000, Fred’s recognized gain is $8,000 [$90,000 (sales price) less

$70,000 (basis), reduced by the $12,000 loss that previously was not allowed to

Janet].

If sold for $50,000, a $20,000 loss [$50,000 (sales price) less $70,000 (basis)] is

recognized by Fred. The $12,000 loss that was realized by Janet is not deductible

by either Janet or Fred and is lost permanently.

If sold for $75,000, there is no recognized gain to Fred [$75,000 (sales price) less

$70,000 (basis), reduced by $5,000 of the $12,000 loss that previously was not

recognized by Janet]. The remaining $7,000 of unrecognized loss is lost

permanently as a deduction for both Janet and Fred. Examples 35 to 37

c. Hoffman, Smith, and Willis, CPAs

5191 Natorp Boulevard

Mason, OH 45040

June 24, 2005

Ms. Janet Saxon

32 Country Lane

Lawrence, KS 66045

Dear Ms. Saxon:

As you requested in your note, I am providing you with the tax consequences of

the proposed sale of stock to your brother Fred. Although you would have a

potential loss of $12,000 ($70,000 selling price – $82,000 cost), you would not be

able to recognize this loss on your tax return. The tax law disallows the

recognition of losses between certain related parties.

If you do sell the stock to Fred, his tax basis for calculating gain or loss on a

subsequent sale by him would be his cost of $70,000. However, if he should sell

it at a gain, he could use as much of your $12,000 disallowed loss as necessary to

reduce his gain to zero.

From a planning perspective, you could recognize the $12,000 loss on your tax

return if you were to sell the stock to an unrelated party rather than selling it to

Fred.

If you would like to discuss this further, please let me know.

Sincerely,

Ellen Allen, CPA

Tax Partner

58. Robin Corporation can take a deduction for interest of $3,200 in 2005 on the loan from

Paul, but must defer the deduction of $3,200 on the loan from Irene until 2006 when it is

paid. Both Irene and Paul have interest income in 2006 when it is received. The reason

for the different treatment is that Paul owns his 16% plus (by attribution) Irene’s 29% for

a total of 45%. Since this is not greater than 50%, he is not a related party with respect to

Robin.

Irene, however, owns her shares (29%), plus (by attribution) her husband’s shares (16%),

her father’s shares (25%), and her mother’s shares (15%) for a total of 85% ownership.

Section 267 disallows the deduction for the accrued expense in 2005 because Irene and

Robin are related parties.

p. 6-27

59. a. Amount realized $12,000

Adjusted basis (17,000)

Realized loss ($ 5,000)

Recognized loss $ -0-

Bonnie and Phillip are related parties under § 267. Therefore, Bonnie’s realized

loss of $5,000 is disallowed. Phillip’s adjusted basis for the stock is his cost of

$12,000.

b. Amount realized $70,000

Adjusted basis (85,000)

Realized loss ($15,000)

Recognized loss ($15,000)

Amos and Boyd are not related parties under § 267. Therefore, Amos’s realized

loss of $15,000 is recognized. Boyd’s adjusted basis for the land is his cost of

$70,000.

c. Amount realized $19,000

Adjusted basis (20,000)

Realized loss ($ 1,000)

Recognized loss $ -0-

Susan and her wholly owned corporation are related parties under § 267 (i.e., she

owns greater than 50% in value of the outstanding stock). Therefore, Susan’s

realized loss of $1,000 is disallowed. The corporation’s adjusted basis for the

bond is its cost of $19,000.

d. Amount realized $18,500

Adjusted basis (20,000)

Realized loss ($ 1,500)

Recognized loss ($ 1,500)

Ron and Agnes are not related parties under § 267. Therefore, Ron’s realized loss

of $1,500 is recognized. Agnes’s adjusted basis for the truck is her cost of

$18,500.

e. Amount realized $220,000

Adjusted basis (175,000)

Realized gain $ 45,000

Recognized gain $ 45,000

Martha and Kim are related parties under § 267. However, § 267 applies only to

loss transactions. Martha’s realized gain of $45,000 is recognized, and Kim’s

adjusted basis for her partnership interest is her cost of $220,000.

pp. 6-26 and 6-28

60. Chris can deduct only the interest attributable to taxable income. The interest attributable

to the municipal interest income is not deductible. Thus, only $12,000 ($160,000/

$200,000 X $15,000) is deductible. pp. 6-28, 6-29, and Example 39

61. a. Robert can only deduct amounts which are his obligations. He may not deduct

amounts that are obligations of his daughter, Anne. Therefore, Robert can deduct

the following as itemized deductions:

Property taxes on his home $ 3,000

Mortgage interest 8,000

Total $11,000

The repairs of $1,200 and the utilities of $2,700 paid by Robert associated with

his home are nondeductible personal expenditures. The roof replacement costs of

$4,000 on Robert’s home are not deductible, but he can add them to his adjusted

basis for the home.

b. Anne cannot deduct any of the expenses that would otherwise be deductible by

her (i.e., property taxes of $1,500 and mortgage interest of $4,500) because she

did not pay them.

c. Robert’s deductions are deductions from AGI (itemized deductions).

d. Anne could deduct the property taxes of $1,500 and the mortgage interest of

$4,500 as itemized deductions if she paid them. Therefore, Robert should make a

gift of $6,000 to Anne so that she could pay these expenses.

pp. 6-5, 6-25, 6-26, and 6-31
